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NEW QUESTION 1
- (Topic 1)
The main benefit of a mass customization product design strategy is to:

A. sell high quantities of product to specific customer segments.
B. achieve economies of scale in purchasing components.

C. offer more product variety while keeping inventories low.

D. avoid assembly of finished products.

Answer: C

NEW QUESTION 2
- (Topic 1)
Which of the following scenarios represents a correct application of the Supply-Chain Operations Reference-model (SCOR)?

A. Sales and marketing refers to SCOR to improve demand generation.

B. Production and engineering uses SCOR best practices to design a new "make" process flow.
C. Distribution and logistics selects suppliers from the SCOR reference list.

D. Marketing and development incorporates SCOR Level | metrics for new product design.

Answer: B

NEW QUESTION 3
- (Topic 1)
Which of the following situations is an example of postponement?

A. Shipments are broken down into small groups for reshipment.
B. Shipments are consolidated immediately for reshipment.

C. Production begins after a customer order is received.

D. Partially assembled goods are assembled at a later stage.

Answer: D

NEW QUESTION 4
- (Topic 1)
The primary objective of supply chain management is:

A. minimizing transportation costs.

B. reducing inventory levels.

C. taking a systems approach.

D. implementing advanced technologies.

Answer: C

NEW QUESTION 5
- (Topic 1)
Keeping all other factors equal, a company typically will try to maintain higher service levels for products with:

A. wider variety.

B. shorter lead time.

C. higher profit margins.
D. lower sales volumes.

Answer: C

NEW QUESTION 6

- (Topic 1)

A firm has identified groups of customers based on specific characteristics the customers desire from products and services the firm can provide. Characteristics
include lead times, pricing tiers, and service levels. The firm is engaged in which of the following activities?

A. Customer differentiation
B. Order winner segregation
C. Market segmentation

D. Channel definition

Answer: C

NEW QUESTION 7

- (Topic 1)

A media company offers a majority of its movies through a specific distributor. The media company is beginning to produce content for a new foreign market to
which the distributor has exclusive access. To maximize savings and gain entry to this new market, the media company should:

A. create a contract for the new market.

B. enter into a partnership.
C. form a strategic alliance.
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D. acquire the distributor.

Answer: C

NEW QUESTION 8
- (Topic 1)
The most likely benefit of implementing a collaborative transportation management system is:

A. lower distribution center operating costs.
B. fewer transportation planners.

C. less variability in picking and packing time.
D. less variability in transportation costs.

Answer: D

NEW QUESTION 9
- (Topic 1)
Medium-term demand management projections are used primarily to:

A. complete strategic business planning of facilities.
B. complete forecasts at the item level.

C. aggregate demand for production planning.

D. develop the master production schedule.

Answer: C

NEW QUESTION 10
- (Topic 1)
Which of the following forecasting methods relies on the opinions of a panel of experts?

A. Delphi technique

B. Survey method

C. Causal method

D. Time series analysis

Answer: A

NEW QUESTION 10
- (Topic 1)
Maintaining a long-term collaborative relationship with a trading partner requires:

A. formal and informal communication.

B. interconnected information systems.

C. one partner regularly exercising power.
D. standardized terms of agreement.

Answer: A

NEW QUESTION 14
- (Topic 1)
Which of the following situations is an example of inventory being held as a way to balance supply and demand?

A. A manufacturer holds inventory of key components to maintain a level production schedule.
B. A manufacturer of seasonal products builds finished-goods inventory before the peak

C. selling period.

D. A distributor maintains safety stock of slow-moving items at a central distribution center.

E. A retailer stocks a variety of sizes and colors of a fast-selling item to avoid losing sales.

Answer: B

NEW QUESTION 17

- (Topic 1)

A firm supplies a single line of products to consumers using retail stores and on-line sales, distributors, and wholesalers. Currently the firm has common pricing
and response times for sales in each sales channel. Which of the following tools is most appropriate to employ to improve profitability?

A. Customer segmentation

B. Customer-facing ordering systems

C. Customer relationship management (CRM)

D. Supply Chain Operations Reference (SCOR®)

Answer: A

NEW QUESTION 19
- (Topic 1)
The value that logistics provides within the supply chain can best be summarized as:

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



0% Exam  Recommend!! Get the Full CSCP dumps in VCE and PDF From SurePassExam
L' Sure https://lwww.surepassexam.com/CSCP-exam-dumps.html (399 New Questions)

A. satisfying customer expectations about availability and delivery at an acceptable total cost.

B. meeting promised location and on-time delivery goals with minimal use of expediting.

C. establishing inventory and delivery goals with various customers that fulfill the firm's profit objectives.
D. providing accurate in-transit and delivery information to customers and salespeople.

Answer: A

NEW QUESTION 20
- (Topic 2)
The strategy to implement supplier relationship management has been developed. The most appropriate next step is to:

A. develop criteria for prospective partners.
B. develop policies for alliances.

C. select initial partners.

D. conduct a pilot implementation.

Answer: A

NEW QUESTION 25
- (Topic 2)
The social dimension of sustainability typically would be addressed when developing and implementing policies regarding:

A. accounting practices.
B. biodiversity protection.
C. conflicts of interest.

D. waste reduction.

Answer: C

NEW QUESTION 27
- (Topic 2)
The United Nations Global Compact uses 10 guiding principles to:

A. reduce uncertainty for multinational firms regarding legal, import/export, labor, and environmental standards across countries.

B. set minimum levels of compliance across a broad range of transactional areas for businesses operating in multiple geographic regions.

C. align the needs of businesses to increase profitability and the needs of individual countries to ensure their specific legal requirements are met.
D. help ensure that markets, commerce, technology, and finance promote advancement of economies and societies everywhere.

Answer: D

NEW QUESTION 28
- (Topic 2)
Which of the following statements about the use of bar code labels for product identification in the supply chain is true?

A. They have been replaced by radio frequency identification tags.

B. They can be read by devices 1 to 3 meters from the item.

C. They facilitate the capture of information about the location of items.
D. Each of the trading partners must apply a unique label.

Answer: C

NEW QUESTION 32
- (Topic 2)
The customer who provides point-of-sale data remains the sole decision-maker regarding order quantities when what type of inventory strategy is used?

A. Continuous replenishment

B. Advanced continuous replenishment
C. Vendor-managed replenishment

D. Quick response

Answer: D

NEW QUESTION 34

- (Topic 2)

The most important challenge to consider when sourcing globally is:
A. the identification of sources capable of producing the materials.
B. the availability of low-cost labor and energy.

C. complying with specific import/export issues.

D. balancing the difference between piece price and total cost.
Answer: D

NEW QUESTION 36
- (Topic 2)
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Customizing can be an effective warehousing strategy because it allows a company to:

A. allocate available storage space to optimize handling costs.

B. address trade-offs between space and material handling needs.

C. effectively design its inbound and outbound dock areas.

D. add value to the product through modification, labeling, and packaging.

Answer: D

NEW QUESTION 41
- (Topic 2)
Implementation of supply chain applications based on which of the following technologies is most likely to have the lowest fixed costs?

A. Best of breed packages

B. One integrated package

C. Service-oriented architecture
D. Software-as-a-service

Answer: D

NEW QUESTION 43

- (Topic 2)

Which of the following distribution approaches for a low-volume, high-variety product line typically will result in the highest level of customer service and the lowest
total distribution costs?

A. Direct shipment from plant to customers

B. Shipment from a central distribution warehouse

C. Shipment through a multi-echelon distribution network
D. Outsourcing the distribution function

Answer: A

NEW QUESTION 48

- (Topic 2)

A company that is focused on customer relationship management is most likely to take which of the following actions for customers who have been profitable over
time?

A. Reduce the cost of serving them.

B. Target them for higher margin services.

C. Target them for greater attention.

D. Charge them for administrative services used.

Answer: C

NEW QUESTION 49
- (Topic 2)
What is the primary benefit of using a central storage warehouse for all components rather than using point-of-use storage?

A. Reduced need for bar codes and radio frequency identification technology
B. Reduced material handling costs

C. Ease of control and count accuracy

D. Maintain a cleaner shop floor

Answer: C

NEW QUESTION 50

- (Topic 3)

Which of the following actions best exemplifies an appropriate demand management
strategy?

A. Reducing costs in the procurement of goods

B. Prioritizing demand when supply is constrained

C. Maximizing sales orders from customers

D. Updating the sales and operations planning (S&OP) to changes in production capacity

Answer: B

NEW QUESTION 52

- (Topic 3)

Which of the following outcomes most likely is the primary reason for outsourcing production of a new product?
A. Increase control of the supply chain

B. Increase flexibility of the supply chain

C. Reduce required capital investment

D. Reduce the need for skilled workers

Answer: C
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NEW QUESTION 55
- (Topic 3)
Which of the following changes often leads to higher levels of inventory?

A. Decrease in customer service level
B. Decrease in vendor lead times

C. Increase in economies of scale

D. Increase in warehouse holding costs

Answer: C

NEW QUESTION 56
- (Topic 3)
Which of the following statements best identifies the value of using a supplier rating system?

A. It provides an objective means for a company to determine outstanding suppliers.

B. It allows customers to post chargebacks to suppliers.

C. It offers a company an effective way to control suppliers' delivery processes.

D. It ensures that all suppliers are using the same quality standards to manufacture products.

Answer: A

NEW QUESTION 61
- (Topic 3)
The benefit most likely to result from a collaborative forecasting process is:

A. improvement in forecast accuracy.

B. improvement in forecast responsiveness.
C. reduction of the coefficient of variation.
D. reduction of forecasting effort.

Answer: A

NEW QUESTION 63
- (Topic 3)

Which of the following actions is most likely to improve customer perceptions about delivery performance provided by a firm?

A. Shipping orders early whenever possible

B. Increasing the order-fill rate

C. Increasing inventory velocity for key products

D. Implementing a pull inventory replenishment system

Answer: B

NEW QUESTION 67
- (Topic 3)

What benefit does Radio Frequency Identification (RFID) technology provide for a high- volume, low-cost manufacturer?

A. Reduces store thefts

B. Eliminates the effects of bullwhip

C. Eliminates stock out at store level

D. Reduces number of touch points in pallet handling

Answer: D

NEW QUESTION 68
- (Topic 3)

A company operates under a make-to-order policy, and its supplier operates under a make- to-stock policy. Which of the following risks poses the greatest threat?

A. Inventory risk for the company

B. Inventory risk for the supplier

C. Debt leverage risk for the company
D. Debt leverage risk for the supplier

Answer: B

NEW QUESTION 70

- (Topic 3)

The most appropriate frequency for the sales and operations planning process typically is:
A. weekly.

B. monthly.

C. quarterly.

D. annually.

Answer:
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B

NEW QUESTION 74
- (Topic 3)
Which of the following export documents is used as the basis for the valuation of goods for insurance purposes and for assessment of duties?

A. Export license

B. Export declaration
C. Bill of lading

D. Commercial invoice

Answer: D

NEW QUESTION 76

- (Topic 3)

A juice manufacturer wants to determine the time required to convert a dollar spent on materials into a dollar received in sales. Which of the following metrics
would be most

appropriate to make this determination?

A. Activity-based costing

B. Inventory carrying cost

C. Cash-to-cash cycle time
D. Average financial turnover

Answer: C

NEW QUESTION 81
- (Topic 3)
Organizations that change from a traditional purchasing perspective to a supply chain perspective most likely will adopt techniques related to:

A. product pricing.

B. value stream analysis.

C. centralized decision making.
D. sourcing multiple suppliers.

Answer: B

NEW QUESTION 82
- (Topic 3)
When trying to decide whether to outsource its customer relationship management function, a company primarily should consider which of the following factors?

A. Location of the service provider

B. Internal controls of the company

C. Compatibility of computer hardware
D. Transaction costs

Answer: B

Explanation:

A grocery store found that ground beef sales increased when buns were a featured sales item. This customer relationship management technique is called:
A. data mining.

B. data tracking.

C. contact management.

A. D. order entry. Answer: A

NEW QUESTION 83
- (Topic 3)
The primary benefit a company is likely to achieve when setting time fences is:

A. reducing lead time.

B. providing a steady schedule for suppliers.
C. interpreting forecast properly.

D. maintaining a stable flow.

Answer: :D

NEW QUESTION 88

- (Topic 3)

Market segmentation is important within the logistics function because it:

A. leads to profitable exchanges with the customer and creates intrinsic customer value

B. supports transactional marketing priorities for successful commodity exchanges to customers globally

C. enables companies to position their products throughout the distributor network based on customer need

D. creates perception in the mind of the customer as available products and services are exchanged

Answer: C
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NEW QUESTION 93
- (Topic 3)
A retailer sets service-level targets intended to maximize total profit. The retailer's service level target should be highest for items with a high profit margin and:

A. low variability of demand.

B. made to stock.

C. small replenishment lot size.
D. made to order.

Answer: A

NEW QUESTION 97
- (Topic 3)
A company handling sale of product discarded by consumers is what type of provider?

A. Third party logistics (3PL)
B. Reverse logistics

C. Fourth party logistics (4PL)
D. Warehousing

Answer: B

NEW QUESTION 98
- (Topic 3)
Pull strategy typically would be the most appropriate strategy when customer demand uncertainty is:

A. high, and supplier lead time is long.
B. high, and supplier lead time is short.
C. low, and supplier lead time is long.

D. low, and supplier lead time is short.

Answer: B

NEW QUESTION 101
- (Topic 3)
Which of the following technologies directly enables pulling products through the supply chain?

A. Automatic identification system (AIS)

B. Paint of sale (POS) system

C. Customer relationship management (CRM)
D. Supply chain event management (SCEM)

Answer: B

NEW QUESTION 104
- (Topic 3)
A distribution requirements planning system is implemented primarily to monitor or manage:

A. supplier capacity.

B. customer demand.

C. inventory replenishment.
D. demand variation.

Answer: C

NEW QUESTION 109
- (Topic 3)
Which of the following approaches most likely will help a company reduce its cost of sales while increasing customer loyalty?

A. Business process design

B. Business development mapping

C. Customer relationship management
D. Sales contact management

Answer: C

NEW QUESTION 113

- (Topic 3)

A company recently implemented a new supplier rating system. Data was collected from the enterprise resources planning system about each vendor's rating for
cost, quality, and delivery over 12 months. A cutoff point was established for poor performers. The responsible purchasing agent then scheduled meetings with
each supplier. Which of the following actions is most appropriate to take with suppliers whose ratings were below the cutoff point?

A. Discuss ways to raise the ratings for the next review period.

B. Tell the suppliers they are on probation for 3 months.

C. Immediately cancel outstanding contracts with those suppliers.
D. Ask the suppliers to explain the poor performance.
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Answer: A

NEW QUESTION 117
- (Topic 3)
Which of the following costs is an example of ordering cost?

A. Inspection labor

B. Obsolesence

C. Cost of capital invested
D. Insurance

Answer: A

NEW QUESTION 118
- (Topic 3)
Which of the following approaches typically would be most effective in increasing inventory velocity in a supply chain?

A. Using faster modes of transportation
B. Using third-party logistics firms

C. Reducing the inventory idle time

D. Adding capacity at bottlenecks

Answer: C

NEW QUESTION 120

- (Topic 3)

The employees at a convenience store are trained to ask customers purchasing snack foods whether they also would like to purchase a beverage. This situation is
an example of:

A. cross-selling.

B. customer service.
C. product marketing.
D. selling an upgrade.

Answer: :A

NEW QUESTION 121

- (Topic 3)

Which of the following metrics would be most appropriate for a group of trading partners that is trying to gain competitive advantage through supply chain
reliability?

A. Cash-to-cash cycle time

B. Supply chain response time

C. Order-fill rate performance

D. Value-added productivity per employee

Answer: C

NEW QUESTION 126
- (Topic 3)
Which of the following types of raw materials would be most appropriate to source via an Internet-based trading exchange?

A. Expensive material that is critical to the finished good

B. Expensive material for which there are several substitutes
C. Inexpensive material that is critical to the finished good

D. Inexpensive material for which there are many sources

Answer: :D

NEW QUESTION 128

- (Topic 3)

A large, global third party logistics provider (3PL) is contemplating the switch to the use of ethanol-based fuel in its truck fleet and wants to identify the impact of
this change on food prices. Which of the following attributes of the triple bottom line (TBL) are part of this trade off decision?

A. Organizational, financial and social

B. Sacial, financial and environmental

C. Social, environmental and organizational
D. Organizational, financial and environmental

Answer: B

NEW QUESTION 132
- (Topic 3)
Which of the following tradeoffs should be considered when selecting logistics options?
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A. Safety stock levels and customer service levels

B. Inventory levels and scheduling operations

C. Transportation cost and speed of delivery

D. Centralized and decentralized distribution network

Answer: C

NEW QUESTION 133
- (Topic 3)
Variation in upstream requirements can be reduced by increasing:

A. demand visibility.

B. production capacity.
C. product features.

D. safety stock.

Answer: A

NEW QUESTION 138
- (Topic 3)
Which of the following elements is critical to successfully using a sales and operations planning process?

A. Focusing on performance of the past 12 to 18 months

B. Implementing a unified cross-functional plan and process
C. Implementing bottom-up decision making

D. Aligning the forecast to the annual budget

Answer: B

NEW QUESTION 139
- (Topic 3)
Which of the following manufacturing strategies would run the greatest risk of increasing obsolete inventory costs?

A. Make-to-stock
B. Assemble-to-order
C. Make-to-order
D. Engineer-to-order

Answer: A

NEW QUESTION 143
- (Topic 3)
Which of the following activities occurs as part of the sales and operations planning process?

A. Time fences are matched to master production schedule horizons.

B. The next quarter's forecasts are presented by sales staff to finance and operations personnel at the final meeting.
C. Strategic plans are adjusted based on changing operating situations.

D. Plans are converted to financial projections and capacity requirements.

Answer: D

NEW QUESTION 146

- (Topic 3)

A pattern of increased shipments from manufacturing plants to a central warehouse at month-end and quarter-end typically would cause which of the following
situations in a central warehouse?

A. Fluctuation in required labor resources
B. Decreased use of storage capacity

C. Decreased transportation costs

D. Increased outbound shipments

Answer: A

NEW QUESTION 148

- (Topic 3)

Which of the following activities typically is included in a warehouse management system?
A. Invoicing

B. Freight-bill auditing

C. Order processing

D. Vehicle routing

Answer: C

NEW QUESTION 152
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- (Topic 3)
A firm experiences a supply chain interruption from a second-tier supplier. Which of the following actions is the firm likely to take to minimize future interruptions?

A. Require the supplier to submit weekly cycle count reports.

B. Require the supplier to implement a sales and operations planning process.
C. Map the supplier's supply chain to identify risks and opportunities.

D. Conduct an ISO 14001 audit of the supplier.

Answer: C

NEW QUESTION 157
- (Topic 3)
Value stream mapping is a useful tool primarily because it:

A. redefines supply chain relationships.

B. is completed in 1 or 2 days.

C. is used to improve efficiency in a specific area.

D. looks at the entire supply chain rather than an isolated process.

Answer: D

NEW QUESTION 162
- (Topic 3)
The production scheduler for a bottleneck resource should:

A. schedule additional preventive maintenance for the resource.

B. ensure a constant queue of work waiting to be processed.

C. increase production lot sizes to increase utilization of resources.
D. implement pull signals for production of the bottleneck resource.

Answer: B

NEW QUESTION 163
- (Topic 3)
Which of the following processes ensures that functional plans are consistent?

A. Strategic planning

B. Sales and operations planning
C. Project planning

D. Master scheduling

Answer: B

NEW QUESTION 164
- (Topic 3)
A primary reason for enhancing supply chain security is to:

A. meet government requirements.
B. reduce insurance costs.

C. improve lead time.

D. protect brand image.

Answer: D

NEW QUESTION 167
- (Topic 3)
A company discovers that several high-volume customers have very erratic ordering patterns. Which of the following actions is most likely to reduce variability?

A. Checking the demand status multiple times daily

B. Establishing Internet-enabled collaborative relationships

C. Implementing electronic data interchange transactions

D. Increasing safety-stock levels for items these customers order

Answer: B

NEW QUESTION 171

- (Topic 3)

Which of the following types of strategies minimizes inventory throughout the supply chain to avoid obsolescence?
A. Delayed differentiation

B. Low costs

C. Location

D. Response

Answer: A
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NEW QUESTION 174
- (Topic 3)
The primary reason to establish a customer-dedicated warehouse is to:

A. integrate and consolidate an assortment of inventory.
B. position inventory to improve response time.

C. balance inventory with consumption.

D. equalize inbound and outbound logistics costs.

Answer: B

NEW QUESTION 176

- (Topic 3)

Top management typically plans an organization's long-term future by isolating new opportunities and threats and identifying growth objectives during the process
known as:

A. resource planning.

B. sales and operations planning.
C. corporate strategizing.

D. financial planning.

Answer: C

NEW QUESTION 179

- (Topic 3)

A manufacturer with operations in an area prone to natural disasters is reviewing its sustainability strategy. Which of the following production strategies should the
company implement to reduce the risk of supply interruptions?

A. Centralized

B. Decentralized

C. Make-to-order

D. Engineer-to-order

Answer: B

NEW QUESTION 184

- (Topic 3)

If a firm has 35 days of accounts payable outstanding and 55 days invested in inventory, and its cash-to-cash cycle time is 90 days, what is the number of days of
accounts receivable?

A. 70
B. 90
C. 110
D. 180

Answer: A

NEW QUESTION 187
- (Topic 3)
What are the three principle categories of forecasting methods?

A. Seasonal, trend, and promotional events

B. Moving average, exponential smoothing, and Holt-Winters
C. Qualitative, extrinsic, and intrinsic

D. Annual, monthly, and daily requirements

Answer: C

NEW QUESTION 189
- (Topic 3)
Which of the following outcomes is most likely a result of allocating excess capacity to a supply chain facility?

A. Lower utilization which leads to higher cost
B. Higher utilization which leads to higher cost
C. Higher utilization which leads to lower cost
D. Lower utilization which leads to lower cost

Answer: A

NEW QUESTION 192
- (Topic 3)
Which of the following characteristics typically is a feature of supplier relationship management?

A. Supplier employees are located at the firm's facilities.

B. Inventory is verified before the supplier ships the goods.

C. Performance of both firms is measured and reported regularly.
D. The supplier is the sole source for the goods.
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Answer: C

NEW QUESTION 197

- (Topic 3)

A manufacturer of consumer goods has purchased one of its distributors. The distributor's inventory system is archaic and will not integrate into the manufacturer's
enterprise resources planning (ERP) system. Which of the following approaches is the most appropriate long-term solution for the manufacturer?

A. Buy a complete ERP system that includes seamlessly integrated distribution.
B. Buy a warehouse management system that integrates into the ERP system.
C. Run the existing warehouse inventory system and update the ERP system manually.
D. Hire a software contractor to write an interface with batch update to the ERP system.

Answer: B

NEW QUESTION 201

- (Topic 3)

An office furniture manufacturer observed that customers preferred to configure desks based on their available office space. To keep product costs to a minimum,
yet satisfy

customer needs, the company should choose which of the following design strategies?

A. Modularity

B. Component commonality
C. Mass customization

D. Standardization

Answer: A

NEW QUESTION 204
- (Topic 3)
During the sales and operations planning (S&OP) horizon, planned inventory can best be used to:

A. implement a time-phased stock replenishment plan.

B. allow for consistent production lot sizing.

C. buffer the company against unknown fluctuations in demand.
D. minimize storage and transportation costs.

Answer: C

NEW QUESTION 209

- (Topic 3)

A company exports products to emerging markets. Which of the following approaches would be used to enhance compliance, minimize risks, and connect supply
chain activities?

A. Logistics network planning

B. Distribution requirements planning
C. Supply chain event management
D. Global trade management

Answer: D

NEW QUESTION 214
- (Topic 3)
Some firms that have licensed other companies to manufacture their products run the risk of:

A. losing market share.

B. the other companies becoming competitors.
C. the products becoming a commodity.

D. the products being overpriced.

Answer: B

NEW QUESTION 216
- (Topic 3)
Marketing affects supply chain management decisions primarily by its involvement in:

A. analyzing economic indicators.

B. pricing, placing, and promoting products.
C. determining product requirements.

D. determining forecast error.

Answer: B

NEW QUESTION 218
- (Topic 3)
A disadvantage of capable-to-promise (CTP) when compared to available-to-promise (ATP) is:
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A. the loss of potential sales based on earlier allocations.
B. it does not include inventory levels.

C. it requires the purchase of additional equipment.

D. it requires more complex calculations.

Answer: D

NEW QUESTION 222

- (Topic 3)

A supervisor knows that employees have good ideas for improving department operations but are hesitant to share them. Which of the following tools would be
most appropriate for encouraging the employees to participate in identifying opportunities?

A. Tree diagram
B. Pareto chart

C. Process map
D. Affinity diagram

Answer: D

NEW QUESTION 224
- (Topic 3)
Which of the following measures typically would be considered an aspect of the environmental impact of a supply chain?

A. Amount of funds invested in infrastructure improvements

B. Hours of employee education about environmental stewardship
C. Weight and volume of packaging materials used

D. Total number of people making a living wage

Answer: C

NEW QUESTION 225
- (Topic 3)
Which of the following fill rates is the most rigorous measure of a firm's availability performance?

A. Line
B. Item
C. Order
D. Value

Answer: C

NEW QUESTION 229
- (Topic 3)
Continuous process improvement is characterized by which two of the following key steps?

A. Quality circles and benchmarking
B. Process review and supplier audits
C. Analysis and assessment

D. Observation and selection

Answer: C

NEW QUESTION 234

- (Topic 3)

A consumer goods manufacturer has introduced a new frozen product and encountered problems applying package labels consistently. Which of the following
methodologies would be most appropriate to use to identify the root cause of the problem?

A. Six sigma

B. Statistical process control
C. Lean production

D. Theory of constraints

Answer: A

NEW QUESTION 236

- (Topic 3)

A manufacturer experiences frequent changes in product technology and market preferences, resulting in new product introductions each year. Which of the
following sourcing strategies would be most appropriate?

A. Sole sourcing

B. Multiple sourcing

C. Long-term contracting
D. Strategic partnering

Answer: D
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NEW QUESTION 241
- (Topic 3)
In the analysis of costs, fixed costs are those that are:

A. independent of the volume of output.

B. dependent on the utilization of the asset.

C. inversely proportionate to the volume of output.
D. constant through the useful life of the asset.

Answer: A

NEW QUESTION 242

- (Topic 3)

Which of the following circumstances best describes a roadblock to implementing customer relationship management and supplier relationship management?
A. Concern about conflicts of interest with partners in the supply chain

B. Lack of defined industry standards

C. Deterioration of customer service levels

D. Increased access to information for supply chain partners

Answer: A

NEW QUESTION 244
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